AOB%E
 RFRFTEABNG ?

&)




E1H (FEEAXD)

(x+1)(x — 3)




E1H (FEEAXD)

(x+1)(x — 3)

ZZ

=

x4 —2x—-3



3] i
7 7] (?%51:@ ft@>

(x + 1)?



E2B (FTEATQ)




3] i
3 [H] <;¥5E® ft@))

(x — 1)7



® 3H FEEAROQ)




Y

5 4 m

(x — 6)(x + 5)



&5 4 ]

(x — 6)(x + 5)

)3
2




FEL\ND



#5hH (FEAAN®)

(x+1)(x—1)




#5hH (FEAAN®)

(x+1)(x—1)

N
= A

x¢ -1



FEENDDR )

S 5RS @ ) @.)

R %ﬁf:‘m




FELIND

RIRIEAING ?



&5 6 A

(x + 2)(x — 2)



&5 6 A

(x + 2)(x — 2)

e
5

X% — 4




Y

= [

(x —3)(x + 3)






& 8 Al

(x+y)x—y)







&5 9 Al

(x —4y)(x + 4y)




&5 9 Al

(x —4y)(x + 4y)

b S
= A

x4 — 16Yy*



&1 0

(x + 12)(x — 12)




&1 0

(x + 12)(x — 12)

Ao
= A

x* — 144



1 1M

(a—6)(a+ 6)




1 1M

(a—6)(a+ 6)

)3
5







1 2

(4x + 3)(3 — 4x)




1 2

(4x + 3)(3 — 4x)

At
= A

9 — 16x4



& 1 3

(5x —9y)(5x + 9y)




& 1 3

(5x —9y)(5x + 9y)

b S
= A

25x% — 81y-






